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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) wheneff gduem 31 yv-93 W A Stfarda: fad |

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) Gt g9 A fEr § |

All the questions are compulsory.
(3) THF T¥ 1 IT G 7T IT-Gf&rh1 8 ford |

Write the answer to each question in the given answer-book only.

S-08-Social Science 857 [ Turn over




g —

i ———

(4)

(3)

(6)
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(8)

2
Fort st aretien v 4, 7wt 3 3o o e @ ford 1

For questions having more than one part, the answers to those parts are to be written

together in continuity.

W-W%%ﬁaaﬁvﬁmﬁﬁwﬁm@gﬁ/m/ﬁﬁmzﬁmﬁéfw*
94 1 B TE T | '

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

TY 1 IR for@d | g s o sk 31w o |

Write down the serial number of the question before attempting it.

v SEAT 22 AR HE @ Helid @ 31 4 3F H1E |

Question No. 22 is related to map-work carrying 4 marks.

o9 G 16 & 22 G H JATaieh fashed 2 |

There are internal choices in Question Nos. 16 to 22.
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Qug - A

Section - A

T g
Objective Type Questions :
L T sl 35 e o et R <o o - 4 Rk -

Select the correct answer of the following questions and write in the answer-book :

(1) 1871 % o farferem werm =5 fre 21 o1 wwre S R 7

(3) gt @) WwiE

(@) S @ s

King William [ was declared the emperor of which country in 1871 ?

(A) ltaly (B) France

(C) Germany (D) America 1
(i) T fervagg fopan ol aes = & 2

@) Q@ (@) =R

(H) B8 (@) 8 ‘

How many years did the Second World War last ?

(A) Two , (B) Four

(C) Six | (D) Eight 1
(iii) STer B <31 Y Ut ¢ firet fope o et g ¢

(31) 1855 (%) 1860

(@) 1862 (]) 1872

In which year was the country’s first Jute mill started in Bengal ?

(A) 1855 "~ (B) 1860

(C) 1862 (D) 1872 1
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(iv) o 3 Fdwerm BiféT Sa e e 6 ?

(¥) HERISg (@) s

@) foen (€ e,

Where was the first printing press established in India ?

(A) Mabharashtra (B) Bengal

(C) Bihar (D) Goa 1
(v) SNTNA T R IR T ey

(37) FHS Pl & (@) T &

(®) et s @ =M

Area sown more than once in agriculture year

(A) Gross cropped area (B) Netsown area

" (C) Fallow lands (D) Pastures 1

(vi) Teresr o we Rt ritrera St fafereran s 3 oig el 8 2

(3N 7% ) 8%

) 9% @ 10%

Approximately what percentage of the world’s. bio-diversity is found in India ?

(A) 7% (B) 8% |

(C) 9% | (D) 10% 1
(vii) T o & 1 91 I FEI-TeR, Tt R N Sl %= 71et % ¥4/ TgH

HATE 7

(37) TR (@) s

(@) e (@) TS

Which one of the following industries uses limestone, silica and gypsum as a

raw material ?

(A) Aluminium (B) Plastic

(C) Cement (D) Automobile 1
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(vm)‘q'l'gqﬁ«‘:raqml'lmmﬁo‘mw
The air transport was nationalised in
(A) 1983 (B) 1973
(C) 1963 (D) 1953 1
(ix) ‘Omefs TR 6! e frg A H s 7
(3) WA @ afcwm
@) e @
In which country was the system of ‘Community Government” established ?
(A) India (B) Belgium
(C) Sri Lanka (D) Germany 1

(%)
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TR ERI e w3 S Rew Rieen & s 2
COREE il @ TR

(@) GHadl gl (3) ofafme favy (@mh =9)

Computer software comes under which of the following options in Indian
Constitution ?

(A) The Union List

(B) The State List

(C) The Concurrent List

(D) Residual Subject (The remaining one) 1
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(xi) ‘TR <hl THGT 1 J&T mqﬂﬁmwﬁﬁm%'

(31) i (@) SifErd
@) eI ABELEIE
A person who considers ‘caste’ as the main basis of community. is called
(A) Secularist (B) Castiest
(C) Communalist (D) Feminist
(xii) Fr=feiRaa & @ %15 @1 e A SgR TEA R ?
(37) TSt (@) ST
@) & e (@) T & HIg Tl
Which of the following is better governance than democracy ?
(A) Monarchy (B) Dictatorship
(C) Military rule = (D) None of thesé
(xiii) Pt 3 & 1 < o SrEiea S @ Faiftr iafaf @ ¢
(31) foremera & fiers | (@) wREH A AHS
(W) e § e (@) & gl aen st
Which one of the following is an unorganized sector related activity ?
(A) Teacher in school (B) Factory worker
(C) Doctor in hospital (D) Daily wages labour
(xiv) Wﬁﬁﬁﬁ?mﬂﬁﬁmw:@—
37) "R fd s | (&) % THR
(@) Ve db AT gfoea (}) TSR
Institution issuing currency note in India is
(A) Reserve Bank of India (B) Central Government
(C) State Bank of India (D) Share Market

S-08-Social Science
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(xv) m%%wﬁmaﬁﬁamsrm%

() Tagta g
@) G fRew

As a trade barrier t

() A™ER®

(] HEhye w
ax is imposed

(A) on Expont (B) on Import

(C)  on Capital Investment

(D) on Subsidy I
2. T=wmia T Fifde -
Fill in the blanks -
(i) TR A 1890 % evres 3 T SE Tga asht & S |
A disease called spread very rapidly in Africa in the 1890s. 1

(i) mﬁqﬁn%gwﬁ@aﬁaﬁ@ammﬁm%maﬁt

IS} <61 € el TEa o |

Before the age of machine industries. silk and goods from India

dominated the international market in textiles. 1
(iii) WTEA TS & IESEA AT In kN

Khadins are found in district of Rajasthan. 1
(iv) Sfesam & o 2

The capital of Belgiumis | 1
(v) e H ! Terehia o & w9 | sifien R man |

has been adopted as the state religion in Sri Lanka. 1
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(vi) qerIH &5 ' i HET AT | |

Tertiary sector is also called

(vii) sTgustia Hufaal grr fed o Rl HEd g |

Investment by the multinational corporations is called

3.k oTeTRIeA S o At 3 S e e arera u i 3 SR |

Very Short Answer Type Questions : Answer the following questions in one word

or in one line.

(i) Gole R a8 7
What is calligraphy ?

(i) U berfers == ) Fafl 6t sreia F0 gu fea ot gures 3 s geEe
o fert 7
Which religious reformer wrote his Ninety five theses criticizing many of the

practices and rituals of the Roman Catholic Church ?
(iii) el o A ‘3R Sfe’ T 39T StereRe feg v 3 R ¢
In which language did Rashsundari Debi write her autobiography titled ‘Amar

Jiban" ?
(iv) Sa-fafqaawne ?
What is bio-diversity ?
(v) Tl Feul o GEF HRV F1 R ? (1S Q)
What are the main causes of V\f‘é!'{g\i‘ pollution ? (Any two)
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(vi) e 3 1956 % g TS <61 TSt SR fe

W 3
hich language was declared the official language of Sri Lanka in 1956 ?
(vii) Réshé;qm%ﬁgaﬁqrﬁzﬂmiﬁmﬁ forerett € | (1 Th)

Wri i
rite the name of the countries whose borders share with Belgium. (any one)

(Viii)Wﬁ‘Eﬁﬂ,ﬁﬁfﬁfmmﬁ%mm%ﬂMmew% l
I T e i |

In India, states have also been formed on the basis of geography, culture or
ethnicity. Give any one example.

(ix) WS 8k § Asmrg <6 arafer 3t 9l 2 7
How are the terms of employment in organised sector ?
(x)  SHefteRter 1 Wik Y 3efa e e saE wRE S A 7

Which is the main factor to stimulate the globalisation process ?

@ Ug - §
Section — B
TTETICH S : (I 3158 HiHT ST 50 Teg)

Short Answer Type Questions : (Answer word limit approx. 50 words)
4. worg favagg & I q IR SISy |

Mention any two results of the First World War.

5 affeiemr fRA wEd R 7

What is Industrialization ?

S-08-Social Science
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10.

11.

12.

10
e Frafor <6t SR <6 i < |

Describe the process of soil formation.

iﬁaﬁﬁﬁmmww,wqﬁmqﬁgﬂﬁaﬁwﬁaﬁhmm ?

gt . » . ' canes ?
How did irrigation change cropping patterns, soils and social landscapes :

TG % UTERT AT B -h A A § 7

What are the relevant mediums of mass communication ?

ST TR HE AR i Q) v e e e # 7 wa # faf |

According to you, what are the two main features of federal government ? Write in
brief.

T 3 et 3w N aTel el % s Q) F9 T hIT |

Explain any two forms of discrimination against women in India.

TR <l % G SYETe T S T ' 38 Y 9L AT A T A |

‘Dynasty is a big challenge before political parties.’ Explain your opinion on this

statement.

@ﬁiﬂﬁwﬁwﬁﬁﬁmﬁ%mﬁw%@ﬁﬁmﬁaﬁwmmm%?
=81 2wt @ Tase T |

What conditions are necessary to be fulfilled for accommodation of social

diversities in democracy ? Explain any two conditions.
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What do
you understand by Infant Mortality Rate ?

4. et AT i 5 4 20 s s e |

Write ar '
1Yy tw .y 9
y two main functions of World Trade Organisation.

15, STHIHRI STEhal % is & 92 feiftan |

Write
te any two measures of Consumer Awareness.

@ vvs -4
Section — C

el - I T« (IT I HH T 100 X)

Long Answer Type Questions : (Answer word limit approx. 100 words)

16. Wﬁﬁ%ﬂmﬁwaﬁqﬁﬁm

Briefly describe Napoleon's code.

™ET/OR
mm%wmﬁﬁ ? GIEY |

What did Liberal Nationalism stand for ? Explain.

S-08-Social Science
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17. mﬁﬁﬁwa%uﬁﬁﬁqémgmﬁwaﬂhﬁﬁm

: g oz S g X JPCET- -l de yment in
Describe the technological and institutional reforms of agr icultural developt

India.

IEVOR
TR W TRY-T&Y &7 90i7 Hifd |

Describe the cropping pattern in India.

18, T & TS gl B GuR g s R T 7 et < gl o s iR |

What efforts have been made to reform political parties in India ? Explain any three

reforms.

HAYA/OR
Aleha= ® TeHIfdes gl bl aﬁmaﬁ% ? Tl i wrroni <hy ferdrarm i |

Why are political parties needed in democracy ? Discuss any three reasons.

19, 3ma P Sl A Seaiia agatl Ta Aenail % qed < T FA HEl 7 3 e
) ggr=dal 9 gHEsy |

How will you calculate the value of goods and services produced from different

sectors ? Explain with the help of suitable example.

AYAT/OR

mwmﬁmﬁwww%ﬁﬁwmm% ?

How more employment can be created according to you ? 3
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N T T L A Tm—

oy - ¢

Scction - D

e, SR (IR v Wy e 250 1)

Essay ype Questions : (Answ

WA DG IR 1 R A vl AR |
Describe the Quit India Movement in detail,

AYATOR

& T STHEANT ST 68 Wb Bell 7 wwes |

How did the Non-Cooperation Movement spread in the towns ? Explain.

fa=fafaa @ fewfor feifau -
(1) I 98rdl 94g

(2) = i glaem

Write a note on the following :
(1) Self Help Group
(2) Cheque facility

JYA/OR

et <1 wreor e iR e wi o o |

Write a short note on loan related activities of banks.
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22, Uy &1 I T T w1 Gt

Write the answer in the given map :

Fody i v e e e 3 e it s 1 iR A

(30) TfEH @) faemars

(@) =R @ s

Mark the following Thermal Power Plants in the given Outline Map of India :

(A) Nashik (B) Vijayawada

(C) Barauni (D) Bongaigaon 1+1+1+1=4
HAHET/OR

ﬁv}nﬁm%ﬁi‘@ﬂmﬁaﬁﬁqﬁ?ﬁaﬂmﬁaﬁéﬁaﬁa&%ﬁﬁm:
(31) TR (@) TETIEH
(|) 3IHEHRSH @ AmEd

Mark the following Thermal Power Plants in the given Outline Map of India :
(A) Gandhinagar (B) Ramagundam

(C) Amarkantak (D) Namrup 1+1+1+1=4
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